 (
Rectangle A: 2 in. + 16 in. + 2 in. + 16 in. = 36 in.
Rectangle B: 4 in. + 8 in. + 4 in. + 8 in. = 24 in.
So, both rectangles have an area of 32 square inches, but Rectangle A has a perimeter of 36 inches, and Rectangle B has a perimeter of 24 inches.
) (
Rectangles can have the same area but different perimeters. Two
rectangles can also have the same perimeter, but different areas. The rectangles below each have an area of 32 square inches. Find the perimeter for each rectangle.
) (
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) (
A
) (
B
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A
) (
B
) (
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) (
Find the area and perimeter of each pair of rectangles.
) (
8 in.
) (
16 in.
) (
4 in.
) (
2 in.
) (
Rectangle A
) (
Rectangle B
) (
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